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1) What is the radius of the circle x2 + y2 = 16?

(a) 0 (b) 1 (c) 4 (d) 2

2) Which of the following is the center of the circle (x− 1)2 + y2 = 1

(a) (1, 0) (b) (1, 1) (c) (1, 2) (d) (1,−1)

3) The end points of the diameter of a circle are A(−1, 0) and B(1, 0).

a) What is the center of the circle?
b) What is its radius?

4) Center of a circle is (3, 4) and radius 4.

a) Write the coordinate of a point on this circle.
b) Write the equation of this circle.

5) A circle touches y axis at (0, 5).If the radius of the circle is 2 then

a) What are two points as the center of the circle?
b) Write the equation of one of these circles.

6) The vertices of a square are (4, 0), (0, 4), (−4, 0) and (0,−4). A circle touches
the sides of the square .

a) What are the points at which the circle touches the square?
b) Write the equation of the circle.

7) The circle with center (1, 3) and radius 3 touches x axis at a point,

a) Write the co-ordinates of the point the circle touches xaxis.
b) Write the coordinates of two more points on the circle.
c) Write the equation of this circle.

8) Consider the circles (x− 3)2 + (y − 4)2 = 1 and (x+ 3)2 + (y + 4)2 = 1

a) Write the co-ordinates of the center of (x− 3)2 + (y − 4)2 = 1

b) Write the co-ordinates of the center of (x+ 3)2 + (y + 4)2 = 1



2 c) What is the distance between the centers

9) x2 + y2 − 2x− 4y − 4 = 0 is the equation of a circle.

a) Re-write the equation in the form (x− a)2 + (y − b)2 = r2

b) What is the center of this circle?
c) What is the radius of this circle.

10) Co-ordinates of the end points of the diameter a circle are (3, 4) and (−3,−4)

a) What is the center of the circle?
b) What is the radius of this circle?
c) Write the equation of the line parallel to y axis which is a tangent to this

circle?
d) Write the equation of the line parallel to x axis which is a tangent to this

circle?
e) Write the equation of this circle.

Answers
1) 4

2) (1, 0)

3) a) (0, 0)

b) 1

4) a) It can be very easy to get the points (7, 4), (−1, 4), (3, 0), (3, 8)

b) (x− 3)2 + (y − 4)2 = 16

5) a) (2, 5) or (−2, 5)

b) (x− 2)2 + (y − 5)2 = 4 or (x+ 2)2 + (y − 5)2 = 4

6) a) (2, 2), (−2, 2), (−2,−2), (2,−2)

b) x2 + y2 = 8

7) a) (1.0)

b) (4, 3), (−2, 3)

c) (x− 1)2 + (y − 3)2 = 9

8) a) (3, 4)

b) (−3,−4)

c) 10

9) a) x2 + y2 − 2x− 4y = 4
x2 − 2x+ · · ·+ y2 − 4y + · · · = 4 + · · ·+ · · ·
Add suitable numbers in the blank spaces to make perfect squares.
x2 − 2x+ 1 + y2 − 4y + 4 = 4 + 1 + 4
(x− 1)2 + (y − 2)2 = 9 , (x− 1)2 + (y − 2)2 = 32



3b) (1, 2)

c) 3

10) a) (0, 0)

b) 5

c) x = 5

d) y = 5

e) x2 + y2 = 52
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1) x2 + y2 = 16എʭ ΘȮȮിെʾആരം

(a) 0 (b) 1 (c) 4 (d) 2

2) (x− 1)2 + y2 = 1എʭ ΘȮȮിെʾ േകʣം

(a) (1, 0) (b) (1, 1) (c) (1, 2) (d) (1,−1)

3) വĿാസȮിെʾ അƞƴൾ A(−1, 0) , B(1, 0)ആയാൽ .

a) ΘȮേകʣȮിെʾ ϮചകസംഖĿകൾ എъȪക?
b) ആരം എɃ?

4) ΘȮേകʣം(3, 4) ,ആരം 4ആയാൽ

a) ΘȮȮിെല ഒͩ ബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക.
b) ΘȮȮിെʾ സമവാകĿം എъȪക.

5) ഒͩ ΘȮം y അŬെȮ (0, 5)ൽ െതാǮʮ.ΘȮȮിെʾആരം 2ആയാൽ

a) േകʣമാകാΖʭ രȒ് ബിʠňхെട ϮചകസംഖĿകൾ എъȪക
b) ഇതിെലാͩ ΘȮȮിെʾ സമവാകĿം എъȪക.

6) ഒͩസമചȪരȮിെʾ ശീർഷƴൾ (4, 0), (0, 4), (−4, 0) (0,−4)ആണ്. ΘȮം
സമചȪരȮിെʾ വശƴെള െതാǮʮ .

a) സമചȪരȮിെʾവശƴെളΘȮംെതാǮʭബിʠňхെടϮചകസംഖĿകെളъȪക
b) ΘȮȮിെʾ സമവാകĿം എъȪക

7) (1, 3) േകʣമായ ΘȮȮിെʾആരം 3ആണ്. ΘȮം xഅŬെȮ െതാǮʮ.,

a) ΘȮം xഅŬെȮ െതാǮʭ ബിʠňхെട ϮചകസംഖĿകൾ എъȪക
b) ΘȮȮിെല രȒ് ബിʠňхെട ϮചകസംഖĿകൾ എъȪക
c) ΘȮȮിെʾ സമവാകĿം എъȪക

8) (x − 3)2 + (y − 4)2 = 1 , (x + 3)2 + (y + 4)2 = 1 എʭീ ΘȮƴൾ
പരിഗണിŉക

a) (x− 3)2+(y− 4)2 = 1എʭΘȮȮിെʾ േകʣȮിെʾ ϮചകസംഖĿൾ
എъȪക



2 b) (x+3)2+(y+4)2 = 1എʭΘȮȮിെʾ േകʣȮിെʾϮചകസംഖĿകൾ
എъȪക

c) േകʣƴൾ ത̼ിͬчഅകലെമɃ?

9) x2 + y2 − 2x− 4y − 4 = 0എʭത് ΘȮȮിെʾ സമവാകĿമാണ് .

a) ΘȮെȮ (x− a)2 + (y − b)2 = r2എʭ തരȮിെലъȪക
b) േകʣȮിെʾ ϮചകസംഖĿകൾ എъȪക?
c) ΘȮȮിെʾആരം എɃ?.

10) ഒͩ ΘȮȮിെʾ വĿാസാƞƴхെട ϮചകസംഖĿകൾ (3, 4) , (−3,−4)ആണ്

a) ΘȮേകʣȮിെʾ ϮചകസംഖĿകൾ എъȪക?
b) ΘȮȮിെʾആരം എɃ?
c) ഈΘȮȮിെʾെതാǮവരയായ yഅŬȮിന്സമാʒരമായവര͆െടസമവാകĿം
എʒ് ?

d) ഈΘȮȮിെʾെതാǮവരയായ xഅŬȮിന്സമാʒരമായവര͆െടസമവാകĿം
എʒ് ?

e) ΘȮȮിെʾ സമവാകĿം എъȪക

Answers
1) 4

2) (1, 0)

3) a) (0, 0)

b) 1

4) a) (7, 4), (−1, 4), (3, 0), (3, 8)

b) (x− 3)2 + (y − 4)2 = 16

5) a) (2, 5) or (−2, 5)

b) (x− 2)2 + (y − 5)2 = 4 or (x+ 2)2 + (y − 5)2 = 4

6) a) (2, 2), (−2, 2), (−2,−2), (2,−2)

b) x2 + y2 = 8

7) a) (1.0)

b) (4, 3), (−2, 3)

c) (x− 1)2 + (y − 3)2 = 9

8) a) (3, 4)

b) (−3,−4)

c) 10



39) a) x2 + y2 − 2x− 4y = 4
x2 − 2x+ · · ·+ y2 − 4y + · · · = 4 + · · ·+ · · ·
അʎേയാജĿമായ സംഖĿകൾ ഇͩവശȯം ńǲി ˂ർȤവർƅͪപȮിലാŉക..
x2 − 2x+ 1 + y2 − 4y + 4 = 4 + 1 + 4
(x− 1)2 + (y − 2)2 = 9 , (x− 1)2 + (y − 2)2 = 32

b) (1, 2)
c) 3

10) a) (0, 0)
b) 5
c) x = 5

d) y = 5

e) x2 + y2 = 52

1

1Compiler : John P.A, sjpuzzles@gmail.com , jpavpz@gmail.com | 9847307721



1Paper 42

Geometry and Algebra : Circles

SSLC March 2022 : Revision Material

Score 25
Time −−

1) What is the equation of the line passing through (1, 1) and (−1,−1)?

(a) x = y (b) x+ y = 0 (c) y = 2x (d) x = 1

2) Center of a circle is (1, 1) and one end of the diameter is (−1,−1). Other end
of the diameter is

(a) (2, 2) (b) (1,−1) (c) (3, 3) (d) (0,−1)

3) A(−2, 0), B(0, 6), C(7, 6) are the three vertices of the parallelogramABCD.

a) Find the co-ordinates of the vertex D
b) Calculate the area of the parallelogram.

4) The sides the rectangleABCD are parallel to the axes.A(3, 1) andC(−3,−1)

a) At what point the diagonals intersect?
b) Write the co-ordinates of B and D

5) (2, 2) is the center of a circle with radius 1.A line touches the circle parallel to
x axis.

a) Write the co-ordinates of the point the line touches the circle
b) Write the equation of the line which is the tangent to the circle at that point.



2 6) The verices of a right triangle are (2, 2), (8, 2) and (2, 10).As we know the
center of the circumcircle of the right triangle is the mid point of the hypotenuse

a) Write the center of the circumcircle.
b) Write the equation of the circumcircle.

7) The center of a circle is (4, 5) and it passes through a point (1, 1)

a) What is the radius of this circle
b) Write the equation of this circle.
c) What are the points at which the circle intersect y axis.

8) The lines x = 6, x = −6, y = 6, y = −6 encloses a quadrilateral

a) Suggest a suitable name to this quadrilateral
b) What is the area of this quadrilateral?
c) Write the equation of the incircle of this quadrilateral.

9) Look at the figure. A circle is drawn with center at the origin.(
√
2,
√
2) is

a point on this circle.Tangent at this point intersect the circle at A and B.

a) What is the radius of the circle?
b) What are the points the circle cut axes?
c) Write the co-ordinates of A and B

d) Write the equation of the circle.

10) (4, 4), (−4, 4), (−4,−4), (4,−4) are the vertices of a square.A circle touches
its sides inside(incircle) . Another circle passes through the vertices of the
square(circumcircle).

a) What is the common center of these circles?



3b) What are the co-ordinates of the points the incircle cut the axes?
c) What are the co-ordinates of the points the circumcircle cut the axes?
d) Write the equation of incircle
e) Write the equation of circumcircle.

Answers
1) x = y

2) (3, 3)

3) a) (5, 0)

b) Area = AD ×OB = 7× 6 = 42

4) a) (0, 0)

b) (3,−1), C(−3, 1)

5) a) (2, 3)

b) y = 3

6) a) (5, 6)

b) (x− 5)2 + (y − 6)2 = 52

7) a) 5

b) (x− 4)2 + (y − 5)2 = 52

x2 + y2 − 8x− 10y + 16 = 0

c) When the circle cut y axis x = 0
(0− 4)2 + (y − 5)2 = 25, (y − 5)2 = 25− 16 = 9
y − 5 = 3,−3
If y − 5 = 3 then y = 8. If y − 5 = −3, y = −3 + 5 = 2.
Points are (0, 2), (0, 8)

8) a) Square
b) Length of side = 12. Area 144
c) x2 + y2 = 36

9) a) 2

b) (2, 0), (0, 2), (−2, 0), (0,−2)

c) A(2
√
2, 0) and B(0, 2

√
2)

(Identify a 45◦ − 45◦ − 90◦ triangle in the figure)
d) x2 + y2 = 4

10) a) (0, 0)

b) (4, 0), (0, 4), (−4, 0), (0,−4)

c) (4
√
2, 0), (0, 4

√
2), (−4

√
2, 0), (0,−4

√
2)

d) x2 + y2 = 42

e) x2 + y2 = 32
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1) (1, 1) , (−1,−1)എʭീ ബിʠňളിͭെട കടʮേപാŃʭ വര͆െട സമവാകĿം?

(a) x = y (b) x+ y = 0 (c) y = 2x (d) x = 1

2) ΘȮേകʣം (1, 1) , വĿാസȮിെʾ ഒരѯം (−1,−1) ആയാൽ വĿാസȮിെʾ
മേѯ അѯം

(a) (2, 2) (b) (1,−1) (c) (3, 3) (d) (0,−1)

3) A(−2, 0), B(0, 6), C(7, 6)എʭിവABCDഎʭസാമാʒരീകȮിെʾശീർഷƴളാണ്

a) D͆െട ϮചകസംഖĿകൾ എъȪക
b) സാമാʒരീകȮിെʾ പരːളവ് കണňാŉക.

4) ABCDഎʭ ചȪരȮിെʾ വശƴൾ അŬƴൾň് സമാʒരമാണ് .A(3, 1) ,
C(−3,−1)ആയാൽ

a) ഏത് ബിʠവിലാണ് വികർȤƴൾ ńǲി̮ǳʭത് ?
b) B ͆െട͆ം D͆െട͆ം ϮചകസംഖĿകൾ എъȪക

5) (2, 2)എʭത്ആരം 1െസ.മീ ഉчΘȮȮിെʾ േകʣമാണ് .ഒͩവര xഅŬȮിന്
സമാʒരമായി .

a) ഈ വര ΘȮെȮ െതാǮʭ ബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക



2 b) െതാǮവര͆െട സമവാകĿം എъȪക

6) ഒͩ മǲɃിേകാണȮിെʾശീർഷƴൾ (2, 2), (8, 2) , (2, 10)എʭിവയാണ് .പരിΘȮȮിെʾ
േകʣം കർȤȮിെʾ മധĿബിʠവാണ് .

a) പരിΘȮേകʣം എъȪക
b) പരിΘȮȮിെʾ സമവാകĿം എъȪക.

7) ഒͩ ΘȮȮിെʾ േകʣം (4, 5)ആണ്. ഈ ΘȮം (1, 1)ͭെട കടʮേപാŃʮ.

a) ΘȮȮിെʾആരെമɃ?
b) ΘȮȮിെʾ സമവാകĿം എъȪക.
c) ഈ ΘȮം y അŬെȮഖșിŉʭബിʠňൾ ഏെതΓാം?.

8) x = 6, x = −6, y = 6, y = −6എʭീ വരകൾ ഒͩ ചȪർ̧ജം ͪപീകരിŉʮ

a) ഈ ചȪർ̧ജȮിെʾ ഏѯΖം ഉചിതമായ േപെരъȪക
b) പരːളവ് എɃ?
c) ഈ ചȪർ̧ജെȮ െതാǮʭ ΘȮȮിെʾ സമവാകĿം എъȪക .

9) ചിɃം േനാŉക. േകʣം ആധാരബിʠവായ ΘȮ̮Ȓ് .(
√
2,
√
2)എʭത്ഈ

ΘȮȮിെലബിʠവാണ് .ഈബിʠവിͭെട͆чെതാǮവരഅŬƴെളAയിͬം

Bയിͬം ഖșിŉʮ.

a) ΘȮȮിെʾആരെമɃ?
b) ΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
c) A͆െട͆ം B͆െട͆ം ϮചകസംഖĿകൾ എъȪക
d) ΘȮȮിെʾ സമവാകĿം എъȪക.

10) (4, 4), (−4, 4), (−4,−4), (4,−4) എʭിവ സമചȪരȮിെʾ ശീർഷƴളാണ്
.വശƴെള െതാǮʭ ΘȮം പരിഗണിŉക (അʒർΘȮം) . ശീർഷƴളിͭെട
കടʮേപാŃʭ ΘȮΖം പരിഗണിŉക(പരിΘȮം ).



3a) രȒ് ΘȮƴхെട͆ം െപാȪവായ േകʣെമʒ് ?
b) അʒർΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
c) പരിΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
d) അʒർΘȮȮിെʾ സമവാകĿം എъȪക
e) പരിΘȮȮിെʾ സമവാകĿം എъȪക.

Answers
1) x = y

2) (3, 3)

3) a) (5, 0)
b) പരːളവ് = AD ×OB = 7× 6 = 42

4) a) (0, 0)
b) (3,−1), C(−3, 1)

5) a) (2, 3)
b) y = 3

6) a) (5, 6)
b) (x− 5)2 + (y − 6)2 = 52

7) a) 5
b) (x− 4)2 + (y − 5)2 = 52

x2 + y2 − 8x− 10y + 16 = 0

c) ΘȮം y അŬെȮഖșിŉേ̵ാൾ x = 0
(0− 4)2 + (y − 5)2 = 25, (y − 5)2 = 25− 16 = 9
y − 5 = 3,−3
y − 5 = 3ആയാൽ y = 8. If y − 5 = −3, y = −3 + 5 = 2.
ബിʠňൾ (0, 2), (0, 8)

8) a) സമചȪരം
b) വശȮിെʾ നീളം = 12. പരːളവ് 144
c) x2 + y2 = 36

9) a) 2
b) (2, 0), (0, 2), (−2, 0), (0,−2)

c) A(2
√
2, 0) , B(0, 2

√
2)

( 45◦ − 45◦ − 90◦ Ƀിേകാണം ചിɃȮിൽ കാȐക)
d) x2 + y2 = 4

10) a) (0, 0)
b) (4, 0), (0, 4), (−4, 0), (0,−4)

c) (4
√
2, 0), (0, 4

√
2), (−4

√
2, 0), (0,−4

√
2)

d) x2 + y2 = 42

e) x2 + y2 = 32
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1) Base perimeter of a square pyramid is 40 cm , slant height 13cm . What is the height of the pyramid?

(a) 12cm (b) 10cm (c) 8cm (d) 11cm

2) Volume of a wooden square prism is 120cm3.What is the volume of the largest square pyramid that can
be carved from it?

(a) 50cm3 (b) 40cm3 (c) 30cm3 (d) 20cm3

3) This is an outline to make square pyramid in a square paper as in the figure. Base edge and lateral edge
of the pyramid are 10 cm and 13 cm respectively.

a) What is the slant height of the square pyramid ?
b) What is the length of the side of the square paper used for making pyramid?

4) A wire of length 96 cm is cut into 8 equal pieces , the ends are joined to get a square pyramid.

a) What is the slant height of the pyramid?
b) Calculate the area of paper used to cover the lateral surface.

5) Length of the base edge of a square pyramid is two times its height.If the base perimeter of the pyramid
is 40cm then

a) What is slant height of the pyramid?
b) Calculate the lateral surface area.

6) Base area of a square pyramid is 100 sq.cm and slant height 13 cm

a) Find the height of the pyramid
b) Calculate the volume of the pyramid

7) Total surface area of a square pyramid is 360 sq.cm and slant height 13 cm

a) If x is the base edge then form an equation using the given conditions
b) Find the length of base edge.
c) Find the height of the pyramid.

8) A square pyramid is carved from a wooden square prism. Base and height of the pyramid is same as
that of the prism.Base area of the prism is 400 sq.cm and height 24cm.



2 a) What is the volume of the pyramid so formed?

b) Find the slant height of the pyramid

c) Calculate the total surface area.

9) The base perimeter and height of a wooden square prism are 32cm and 3 cm . A square pyramid of
maximum size is carved from it with same base and height of the prism.

a) What is the length of its base edge?

b) Find the slant height of the pyramid

c) Calculate the total surface area of the pyramid

d) Find the volume of the pyramid.

10) A sectoral sheet of central angle 240◦ and radius 12cm is cut into four equal triangles as shown in the
figure.The triangles are fixed as the lateral faces of a square pyramid.

a) What is the base edge of the square pyramid?

b) What is its slant height

c) Find the area of paper used to make the base of this solid

d) Find the total surface area of the pyramid

e) Find the volume of the pyramid

Answers
1) 12

2) 40cm3

3) a) l =
√
132 − 52 = 12

b) 12 + 12 + 10 = 34cm

4) Lateral faces are equilatral triangles of side 96
8 = 12cm. Altitude of this triangle will be the slant

height.Recall the property of 30− 60− 90 triangle

a) l = 6
√
3

b) 2al = 2× 12× 6
√
3 = 144

√
3

5) a) 4a = 10, a = 10
h = a

2 = 10
2 = 5

l = 5
√
2

(h = a
2 = 5, h, a2 , l make a 45◦ − 45◦ − 90◦ triangle.

b) Lateral surface area = 2al = 2× 10× 5
√
2 = 100

√
2 sq.cm



36) a) a2 = 100, a = 10, l = 13
l, a2 , h make a right triangle.
l2 = h2 + 52 → h2 = 144, h = 12

b) Volume = a2h
3 = 102×12

3 = 400 cubic unit

7) a) x2 + 2lx = 360 → x2 + 2× 13× x = 360
x2 + 26x = 360

b) x2 + 26x+ 169 = 360 + 169
(x+ 13)2 = 529, x+ 13 = 23, x = 10

c) 132 = 52 + h2, h = 12cm

8) a) Volume = a2h
3 = 400×24

3 = 3200 cubic cm
b) a2 = 400, a = 20, h = 24

Half of base edge, height and slant height make a right triangle.
l2 = 242 + 102 = 676, l = 26

c) Total surface area = a2 + 2al = 400 + 2× 20× 26 = 400 + 1040 = 1440 sq.cm

9) a) 4a = 32, a = 8

b) l2 = 42 + 32 = 25, l = 5

c) Total surface area = a2 + 2al = 64 + 80 = 144

d) Volume = a2h
3 = 82×3

3 = 64

10) a) 12

b) 6
√
3

c) 122 = 144

d) a2 + 2al = 144 + 2× 12× 6
√
3 = 144 + 144

√
3

e) Volume = a2h
3 = 288

√
2

1
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1) (1, 1) , (−1,−1)എʭീ ബിʠňളിͭെട കടʮേപാŃʭ വര͆െട സമവാകĿം?

(a) x = y (b) x+ y = 0 (c) y = 2x (d) x = 1

2) ΘȮേകʣം (1, 1) , വĿാസȮിെʾ ഒരѯം (−1,−1) ആയാൽ വĿാസȮിെʾ
മേѯ അѯം

(a) (2, 2) (b) (1,−1) (c) (3, 3) (d) (0,−1)

3) A(−2, 0), B(0, 6), C(7, 6)എʭിവABCDഎʭസാമാʒരീകȮിെʾശീർഷƴളാണ്

a) D͆െട ϮചകസംഖĿകൾ എъȪക
b) സാമാʒരീകȮിെʾ പരːളവ് കണňാŉക.

4) ABCDഎʭ ചȪരȮിെʾ വശƴൾ അŬƴൾň് സമാʒരമാണ് .A(3, 1) ,
C(−3,−1)ആയാൽ

a) ഏത് ബിʠവിലാണ് വികർȤƴൾ ńǲി̮ǳʭത് ?
b) B ͆െട͆ം D͆െട͆ം ϮചകസംഖĿകൾ എъȪക

5) (2, 2)എʭത്ആരം 1െസ.മീ ഉчΘȮȮിെʾ േകʣമാണ് .ഒͩവര xഅŬȮിന്
സമാʒരമായി .

a) ഈ വര ΘȮെȮ െതാǮʭ ബിʠവിെʾ ϮചകസംഖĿകൾ എъȪക



2 b) െതാǮവര͆െട സമവാകĿം എъȪക

6) ഒͩ മǲɃിേകാണȮിെʾശീർഷƴൾ (2, 2), (8, 2) , (2, 10)എʭിവയാണ് .പരിΘȮȮിെʾ
േകʣം കർȤȮിെʾ മധĿബിʠവാണ് .

a) പരിΘȮേകʣം എъȪക
b) പരിΘȮȮിെʾ സമവാകĿം എъȪക.

7) ഒͩ ΘȮȮിെʾ േകʣം (4, 5)ആണ്. ഈ ΘȮം (1, 1)ͭെട കടʮേപാŃʮ.

a) ΘȮȮിെʾആരെമɃ?
b) ΘȮȮിെʾ സമവാകĿം എъȪക.
c) ഈ ΘȮം y അŬെȮഖșിŉʭബിʠňൾ ഏെതΓാം?.

8) x = 6, x = −6, y = 6, y = −6എʭീ വരകൾ ഒͩ ചȪർ̧ജം ͪപീകരിŉʮ

a) ഈ ചȪർ̧ജȮിെʾ ഏѯΖം ഉചിതമായ േപെരъȪക
b) പരːളവ് എɃ?
c) ഈ ചȪർ̧ജെȮ െതാǮʭ ΘȮȮിെʾ സമവാകĿം എъȪക .

9) ചിɃം േനാŉക. േകʣം ആധാരബിʠവായ ΘȮ̮Ȓ് .(
√
2,
√
2)എʭത്ഈ

ΘȮȮിെലബിʠവാണ് .ഈബിʠവിͭെട͆чെതാǮവരഅŬƴെളAയിͬം

Bയിͬം ഖșിŉʮ.

a) ΘȮȮിെʾആരെമɃ?
b) ΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
c) A͆െട͆ം B͆െട͆ം ϮചകസംഖĿകൾ എъȪക
d) ΘȮȮിെʾ സമവാകĿം എъȪക.

10) (4, 4), (−4, 4), (−4,−4), (4,−4) എʭിവ സമചȪരȮിെʾ ശീർഷƴളാണ്
.വശƴെള െതാǮʭ ΘȮം പരിഗണിŉക (അʒർΘȮം) . ശീർഷƴളിͭെട
കടʮേപാŃʭ ΘȮΖം പരിഗണിŉക(പരിΘȮം ).



3a) രȒ് ΘȮƴхെട͆ം െപാȪവായ േകʣെമʒ് ?
b) അʒർΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
c) പരിΘȮം അŬƴെള ഖșിŉʭബിʠňൾ ഏെതΓാം?
d) അʒർΘȮȮിെʾ സമവാകĿം എъȪക
e) പരിΘȮȮിെʾ സമവാകĿം എъȪക.

Answers
1) x = y

2) (3, 3)

3) a) (5, 0)
b) പരːളവ് = AD ×OB = 7× 6 = 42

4) a) (0, 0)
b) (3,−1), C(−3, 1)

5) a) (2, 3)
b) y = 3

6) a) (5, 6)
b) (x− 5)2 + (y − 6)2 = 52

7) a) 5
b) (x− 4)2 + (y − 5)2 = 52

x2 + y2 − 8x− 10y + 16 = 0

c) ΘȮം y അŬെȮഖșിŉേ̵ാൾ x = 0
(0− 4)2 + (y − 5)2 = 25, (y − 5)2 = 25− 16 = 9
y − 5 = 3,−3
y − 5 = 3ആയാൽ y = 8. If y − 5 = −3, y = −3 + 5 = 2.
ബിʠňൾ (0, 2), (0, 8)

8) a) സമചȪരം
b) വശȮിെʾ നീളം = 12. പരːളവ് 144
c) x2 + y2 = 36

9) a) 2
b) (2, 0), (0, 2), (−2, 0), (0,−2)

c) A(2
√
2, 0) , B(0, 2

√
2)

( 45◦ − 45◦ − 90◦ Ƀിേകാണം ചിɃȮിൽ കാȐക)
d) x2 + y2 = 4

10) a) (0, 0)
b) (4, 0), (0, 4), (−4, 0), (0,−4)

c) (4
√
2, 0), (0, 4

√
2), (−4

√
2, 0), (0,−4

√
2)

d) x2 + y2 = 42

e) x2 + y2 = 32

1
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1) A sectoral sheet of radius 12 cm is rolled into a cone.What is the slant height of the cone?

(a) 12cm (b) 10cm (c) 8cm (d) 11cm

2) Radius and height of a cone are 4cm. What is its slant height?

(a) 8 (b) 6
√
3 (c) 4

√
2 (d) None of these

3) Two cones have the ratio of base radii is 1 : 2 and ratio of heights 2 : 1

a) Find the ratio of their volume
b) If the volume of small cone is 10 then what is the volume of the other?

4) A circular sheet of radius 20cm is split up into 4 equal sectors.One of them is rolled into a cone.

a) What is the slant height of the cone ?
b) What is the radius of the cone?

5) A cone of maximum size is carved from a square prism of base edge 30cm and height 20cm

a) What is the base radius of the cone?
b) What is the slant height of the cone?

6) Curved surface area of a cone is 135π sq.cm and radius 9cm

a) Calculate the height of the cone.
b) Find the volume of the cone

7) A sectoral sheet of central angle 300◦ and radius 36cm is rolled into a cone.

a) What is the slant height of the cone?
b) Find the base radius of the cone.
c) Base is made by a circular sheet . Calculate the total surface area of the cone.

8) Base perimeter of a conical tent is 24π meter and height 5 meter.

a) What is the base radius of the tent?
b) Find the slant height
c) Calculate the area of the canvas used for making the lateral surface of the tent.

9) A vax cone has base radius 15cm and slant height 25cm .

a) What is the height of the cone?
b) Calculate the volume of the cone
c) It is melted and recast into small cones of radius 1cm and height 4cm.What is the volume of a small

cone?
d) How many small cones can be made?



2 10) A circular sheet of radius 12cm is cut into two sectors of central angle 120◦ and 240◦. Both are rolled
into cones.

a) Which measure is common in both cones? What is it?

b) What is the base radius of the first cone made by the sector of central angle 120◦?

c) What is the base radius of other cone?

d) What is the ratio of their lateral surface area?

e) Which cone more height. How can you realize it?

Answers
1) 12

2) 4
√
2

3) a) Radii are r and 2r
Heights are in the ratio 2h and h

Ratio of the volume πr22h
3 : π(2r)2h

3
v1 : v2 = 1 : 2

b) 20

4) a) 90◦

b) lx = 360r → 20× 90 = 360× r
r = 20×90

360 = 5cm

5) a) 15cm

b) l =
√
152 + 202 =

√
625 = 25cm

6) a) πrl = 135π, π × 9× l = 135
l = 135

9 = 15cm
h =

√
152 − 92 = 12

b) V = 1
3 × π × 92 × 12 = 324π sq cm

7) a) l = 36cm.

b) lx = 360r → 36× 300 = 360× r
r = 36×300

360 = 30cm

c) Total surface area = πr2 + πrl = π × 302 + π × 30× 36 = 1080π + 900π = 1980π

8) a) 2πr = 24π, r = 12meter

b) l2 = 122 + 52 = 169, l =
√
169 = 13meter

c) Area of the canvas is the lateral surface area or curved surface area
Lateral surface area = πrl = π × 12× 13 = 156π sq.meter

9) a) 252 = h2 + 152 , h2 = 252 − 152 = 625− 225 = 400, h = 20cm.

b) Volume of the cone = πr2h
3 = π×152×20

3 = 1500π

c) Volume of the small cone is π×12×4
3 = 4

3π

d) Number of cone = volume of the melted cone ÷ volume of small cone .
Number of cones = 1125

10) a) Slant height is the common measure to both the cones. It is 12cm

b) For the first cone , lx = 360r becomes 12× 120 = 360× r. r = 12×120
360 = 4cm



3c) For the first cone , lx = 360r becomes 12× 240 = 360× r. r = 12×240
360 = 8cm

d) Since slant height is same in both cones, ratio of lateral surface area is the ratio of radii. It is 1 : 2

e) l, h and r are related as l2 = h2 + r2

For the first cone l2 = h21 + 42

For second cone l2 = h22 + 82.
h21 + 16 = h22 + 64 → h1 > h2

1
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1) 12െസʾീമീѯർ ആര̮ч ഒͩ ΘȮാംശം മടňി ΘȮЇപിക ഉȒാŉʮ.Їപിക͆െട ചരിΖയരം എɃ?

(a) 12െസ.മീ (b) 10െസ.മീ (c) 8െസ.മീ (d) 11െസ.മീ

2) ഒͩ ΘȮЇപിക͆െട ആരΖം ഉയരΖം 4െസʾീമീѯറാണ് . Їപിക͆െട ചരിΖയരം എɃ?

(a) 8 (b) 6
√
3 (c) 4

√
2 (d) ഇെതാʮമΓ

3) രȒ് ΘȮЇപികകхെടആരƴൾത̼ിͬчഅംശബʦം 1 : 2ആണ് .ഉയരƴൾത̼ിͬчഅംശബʦം
2 : 1ആണ്

a) വĿാˈƴൾ ത̼ിͬчഅംശബʦം എɃ?
b) െചറിയ Їപിക͆െട വĿാˈം 10ആയാൽ വലിയ Їപിക͆െട വĿാˈം എɃ?

4) 20െസʾീമീѯർ ആര̮ч ΘȮȮകിട് 4 ȪലĿ ΘȮാംശƴളാŉʮ.അതിെലാʭ് മടňി ΘȮЇപിക
ഉȒാŉʮ.

a) ചരിΖയരം എɃ?
b) Їപിക͆െട ആരം എɃ?

5) 30െസʾീമീѯർ വňിെʾനീളΖം 20െസʾീമീѯർ ഉയരΖ̮чസമചȪരЅംഭȮിൽനിʮംപരമാവധി വͬː̮ч
ΘȮЇപിക െചȮിെയǮŉʮ.

a) Їപിക͆െട പാദ ആരം എɃ?
b) Їപിക͆െട ചരിΖയരം എɃ?

6) ഒͩ ΘȮЇപിക͆െട പാർശł̮ഖപരːളവ് 135πചȪരδെസʾീമിѯർ , ആരം 9െസʾീമീѯർ

a) Їപിക͆െട ഉയരെമɃ?.
b) Їപിക͆െട വĿാˈം എɃ?

7) 300◦ േകʣേകാȐം 36െസʾീമീѯർ ആരΖ̮ч ΘȮാംശം മടňി ΘȮЇപിക ഉȒാŉʮ

a) Їപിക͆െട ചരിΖയരെമɃ?
b) പാദ ആരം എɃ?
c) ΘȮȮകിട് ഉപേയാഗിƹ് പാദം ͪപീകരിŉʮ.Їപിക͆െട ഉപരിതലപരːളവ് എɃ?.

8) ΘȮЇപികാŅതിയിͬч ഒͩ െടʾിെʾ പാദƷчളവ് 24π മീѯർ , ഉയപം 5 മീѯർ

a) പാദആരം എɃ?
b) ചരിΖയരം എɃ?
c) െടʾ് നിർ̼ിŉʭതിന് ആവശĿമായ കĿാൻവാസിെʾ പരːളവ് എɃ?

9) െമъŃെകാȓч ഒͩ ΘȮЇപിക͆െട പാദ ആരം 15െസʾീമീѯъം ചരിΖയരം 25െസʾീമീѯѭമാണ് .

a) Їപിക͆െട ഉയരം എɃ?
b) Їപിക͆െട വĿാˈം എɃ?



2 c) ഇത് ഉͩňി 1െസʾീമീѯർആരΖം 4െ◌സʾീമീѯർ ഉയരΖ̮чെചറിയЇപികകൾഉȒാŉʮ.െചറിയ
Їപിക͆െട ഉയരം എɃ?

d) എɃ െചറിയ Їപികകൾ ഉȒാňാം?

10) 12െസʾീമീѯർ ആര̮ч ΘȮ തകിട് രȒ് ΘȮാംശƴളാŉʮ. ഇവ͆െട േകʣേകാȐകхം 120◦ ,
240◦വീതമാണ് . രȒ് ΘȮാംശƴхം മടňി ΘȮЇപികхȒാŉʮ.

a) രȒ് ΘȮЇപികൾŉം െപാȪവായ അളെവʒ് ?
b) 120◦േകʣേകാȐч ΘȮാംശം മടňി͆ȒാŉʭЇപിക͆െട ആരെമɃ?
c) 240◦േകʣേകാȐч ΘȮാംശം മടňി͆ȒാŉʭЇപിക͆െട ആരെമɃ?
d) രȒ് Їപികകхെട͆ം വŦ̮ഖപരːളΖകൾ ത̼ിͬч പരːളവ് എɃ?
e) ഏത് Їപിക͍ാണ് ńǮതൽ ഉʭതി.

Answers
1) 12

2) 4
√
2

3) a) ആരƴൾ r , 2rവീതമാണ് .
ഉʭതികൾ 2h , hവീതമാണ്
വĿാˈƴൾ ത̼ിͬчഅംശബʦം πr22h

3 : π(2r)2h
3

v1 : v2 = 1 : 2

b) 20

4) a) 90◦

b) lx = 360r → 20× 90 = 360× r
r = 20×90

360 = 5െസʾീമിѯർ

5) a) 15െസʾീമീѯർ

b) l =
√
152 + 202 =

√
625 = 25cm

6) a) πrl = 135π, π × 9× l = 135
l = 135

9 = 15cm
h =

√
152 − 92 = 12

b) V = 1
3 × π × 92 × 12 = 324π sq cm

7) a) l = 36cm.
b) lx = 360r → 36× 300 = 360× r

r = 36×300
360 = 30cm

c) ആെക പരːളവ് = πr2 + πrl = π × 302 + π × 30× 36 = 1080π + 900π = 1980π

8) a) 2πr = 24π, r = 12മീѯർ
b) l2 = 122 + 52 = 169, l =

√
169 = 13മീѯർ

c) കĿാൻവാസ് പാർശł̮ഖം ഉȒാŉʭതിന് ഉപേയാഗിŉʮ
പാർശł̮ഖപരːളവ് = πrl = π × 12× 13 = 156π ചȪരδമീѯർ

9) a) 252 = h2 + 152 , h2 = 252 − 152 = 625− 225 = 400, h = 20cm.
b) Їപിക͆െട വĿാˈം = πr2h

3 = π×152×20
3 = 1500π

c) െചറിയ Їപിക͆െട വĿാˈം π×12×4
3 = 4

3π

d) Їപികхെട എȤം = ഉͩňിയ Їപിക͆െട വĿാˈം ÷ ഉͩňി͆Ȓാňിയ ഒʭിെʾ വĿാˈം .
Їപികകхെട എȤം = 1125



310) a) െപാȪവായ അളവ് ചരിΖയരമാണ് . ഇത് 12െസʾീമീѯർ
b) െചറിയ Їപികയിൽ lx = 360r എʭത് 12× 120 = 360× r. r = 12×120

360 = 4cm

c) , lx = 360r എʭത് 12× 240 = 360× r. r = 12×240
360 = 8cm

d) രȒ്Їപിക͆െട͆ംചരിΖയരംȪലĿമായതിനാൽപാർശł̮ഖപരːളΖകൾത̼ിͬчഅംശബʦം
ആരƴൾ ത̼ിͬчഅശംബʦΖം ȪലĿമാണ് . ഇത് 1 : 2ആണ്

e) l, h , r എʭിവ ത̼ിͬчബʦം l2 = h2 + r2

ആദĿЇപികയിൽ l2 = h21 + 42

രȒാംЇപികയിൽ l2 = h22 + 82.
h21 + 16 = h22 + 64 → h1 > h2

1
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1) Surface area of a sphere is 4π . What is its radius ?

(a) 3 (b) 1 (c) 2 (d) 5

2) Surface area of a solid sphere is 60 square unit.What is the surface area of the hemisphere made from
it?

(a) 30 (b) 40 (c) 45 (d) 20

3) Total surface area of a solid sphere is 100π sq.cm

a) What is the radius of the sphere?
b) Find the volume of this sphere.

4) Surface area of a sphere is 576π sq.cm

a) What is the radius of the sphere?
b) Calculate the volume of the sphere

5) Volume and surface area of a sphere are numerically equal

a) What is the radius of the sphere?
b) Find the surface area or volume of this sphere.

6) Radius of a solid sphere is 6cm. It is melted and recast in to small spheres of radius 1cm

a) What is the volume of melted sphere?
b) How many small spheres can be made from it?

7) A sphere of maximum size is carved from a wooden cube of side 12cm

a) What is the radius of the sphere so formed?
b) Find the surface area of the sphere
c) Find the volume of the sphere.

8) Curved surface area of a solid hemishpere is 300π

a) What is the radius of the hemisphere?
b) A cone of maximum size is carved from it. What is the slant height of the cone?
c) Calculate the total surface area of the cone carved out from the hemisphere?

9) The curved surface area of a solid hemisphere is 75π sq.cm

a) What is the area of its plane surface
b) What is the area of its curved surface
c) Find the radius of this hemisphere
d) What will be the surface area of the sphere formed by joining these two hemispheres.



2 10) Radius of a spherical baloon is taken as r , its volume v and Surface area S.When it is inflated radius
becomes two times

a) What change occurs to the surface area of the baloon when its radius become double?
b) What change occurs to the volume of the baloon when its radius become double?
c) It can be noted that the surface area of sphere is proportional to the square of its radius.

The surface are of a sphere is 10 sq.cm. What will be the surface area of the new sphere when
its radius becomes 2 times?

d) Also , the volume of the sphere is proportional to cube of its radius.The volume of a sphere is 10.
What will be the new volume when the radius become two times?

e) The surface area of a sphere is s. What will be the new surface area when its radius is halved?

Answers
1) 1

2) 45

3) a) 4πr2 = 100π, r2 = 25, r = 5cm
b) Volume = 4

3πr
3 = 4

3π × 53 = 500π
3 cubic unit

4) a) 4πr2 = 576π
r2 = 144, r = 12

b) Volume = 4
3 × π × 123 = 2304πcubic cm

5) a) 4πr2 = 4
3πr

3

r = 3

b) Surface area = 4πr2 = 4× 33 = 36π

6) a) Volume= 4
3π × 63 = 288π

b) Number of spheres = 4
3π × 63 ÷ 4

3π × 13 = 216

7) a) 6cm
b) Surface area = 4πr2 = 4π × 62 = 144π sq.cm
c) Volume = 4

3πr
3 = 4

3π × 63 = 288π cubic cm

8) a) 3πr2 = 300π → r = 10

b) h = r = 10. l, r, h makes a 45◦ − 45◦ − 90◦ triangle. l = 10
√
2

c) Curved surface area = πrl = 100
√
2

9) a) 3πr2 = 75π → πr2 = 75π
3 = 25π. Area of plane surface is 25π

b) Curved surface area 2× πr2 = 50π

c) πr2 = 25π → r2 = 25, r = 5cm
d) Surface area of the sphere is 4πr2 = 4× 25 = 100π

10) a) S = 4πr2. When r → 2r, new surface area becomes 4π × (2r)2 = 4π × 4r2 = 4S
Surface area becomes 4 times.

b) V = 4
3πr

3. When r → 2r, the new volume is 4
3 × π × (2r)3 = 8× V

c) When the radius becomes 2 times the surface area becomes 22 = 4 times. New surface area is 4×10 = 40

d) When the radius becomes 2 times the volume becomes 23 = 8 times. New volume is 8× 10 = 80

e) When the radius becomes 1
2 part the surface area becomes 1

4 part. New surface area is 1
4 × s = s

4sq.cm

1
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1) ഒͩ േഗാളȮിെʾ ഉപരിതലപരːളവ് 4π ആയാൽആരം എɃ ?

(a) 3 (b) 1 (c) 2 (d) 5

2) കǲിയായഒͩ േഗാളȮിെʾഉപരിതലപരːളവ് 60ആയാൽഇതിൽനിʮംͪപീകരിŉʭഅർɮേഗാളȮിെʾ
ഉപരിതലപരːളവ് എɃ?

(a) 30 (b) 40 (c) 45 (d) 20

3) കǲിയായ ഒͩ േഗാളȮിെʾ ഉപരിതലപരːളവ് 100πചȪരδെസʾീമീѯറാണ്

a) േഗാളȮിെʾആരം എɃ?
b) േഗാളȮിെʾ വĿാˈം എɃ?.

4) ഒͩ േഗാളȮിെʾ ഉപരിതലപരːളവ് 576πചȪരδെസʾീമീѯറാണ്

a) േഗാളȮിെʾആരം എɃ?
b) വĿാˈം കണňാŉക

5) ഒͩ േഗാളȮിെʾ വĿാˈΖം ഉപരിതലപരːളΖം ȪലĿമാണ്

a) ആരം എɃ?
b) വĿാˈേമാ ഉപരിതലപരːളേവാ കണňാŉക.

6) കǲിയായ േഗാളȮിെʾആരം 6െസʾമീѯറാണ് . ഇത് ഉͩňി 1െസʾീമീѯർആര̮чെചറിയ േഗാളƴхȒാŉʮ

a) ഉͩňിയ േഗാളȮിെʾ വĿാˈം എɃ?
b) ഇതിൽ നി്ʮം എɃ െചറിയ േഗാളƴхȒാňാം?

7) 12െസʾീമീѯർ വശ̮ч മരȮിെʾ കŁബിൽ നിʮം പരമാവധി വͬː̮ч േഗാളം െചȮിെയǮŉʮ

a) േഗാളȮിെʾആരം എɃ?
b) േഗാളȮിെʾ ഉപരിതലപരːളവ് എɃ?
c) േഗാളȮിെʾ വĿാˈം കണňാŉക.

8) ഒͩ അർɮേഗാളȮിെʾ വŦ̮ഖപരːളവ് 300π ചȪരδെസʾീമീѯറാണ്

a) അർɮേഗാളȮിെʾആരം എɃ?
b) ഇതിൽ നിʮം െചȮിെയǮŉʭഏѯΖം വലിയ ΘȮЇപിക͆െട ചരിΖയരം എɃ?
c) ഏѯΖം വലിയ Їപിക͆െട വŦ̮ഖപരːളവ് എɃ?

9) കǲിയായ അർɮേഗാളȮിെʾ ഉപരിതലപരːളവ് 75π ചȪരδെസʾീമിѯറാണ്

a) പരʭ ̮ഖȮിെʾ പരːളവ് എɃ?
b) വŦ̮ഖപരːളവ് എɃ?
c) അർɮേഗാളȮിെʾആരം എɃ?
d) ഇȮരം രȒ്അർɮേഗാളƴൾ േചർȯȒാŉʭേഗാളȮിെʾ ഉപരിതലപരːളവ് കണňാŉക.



2 10) േഗാളാŅതിയിͬч ബͭണിെʾ ആരം r , വĿാˈം v ,ഉപരിതലപരːളവ് Sആണ് .അതിൽ വാ͆നിറƹ്
ഇരǲി ആര̮ч േഗാളമാŉʮ

a) ഉപരിതലപരːളവിന് വͩʭ മാѯെമɃ?
b) ആരം ഇരǲിയായാൽ വĿാˈȮിന് വͩʭ മാѯെമɃ?
c) ഉപരിതലപരːളവ് ആരȮിെʾ വർƅȮിന് ആʎപാതികമാണ്.
ഉപരിതലപരːളവ് 10 ചȪരδെസʾമീѯർ . ആരം രȒ് മടƴാŃേ̵ാൾ ഉപരിതലപരːളവിന്
വͩʭ മാѯെമɃ?

d) വĿാˈം ആരȮിെʾ ഘനȮിന് ആʎപാതികമാണ്. വĿാˈം 10ആയാൽ ആരം ഇരǲിŉേ̵ാൾ
വĿാˈം എɃയാŃʮ

e) ഉപരിതലപരːളവ് sആണ് . ആരം പŃതിയായാൽ ഉപരിതലപരːളവിന് വͩʭ മാѯെമɃ?

Answers
1) 1

2) 45

3) a) 4πr2 = 100π, r2 = 25, r = 5cm
b) Volume = 4

3πr
3 = 4

3π × 53 = 500π
3 ഘന͇ണിѯ്

4) a) 4πr2 = 576π
r2 = 144, r = 12

b) വĿാˈം = 4
3 × π × 123 = 2304πഘന͇ണിѯ്

5) a) 4πr2 = 4
3πr

3

r = 3

b) ഉപരിതലപരːളവ് = 4πr2 = 4× 33 = 36π

6) a) വĿാˈം = 4
3π × 63 = 288π

b) േഗാളƴхെട എȤം = 4
3π × 63 ÷ 4

3π × 13 = 216

7) a) 6cm
b) ഉപരിതലപരːളവ് = 4πr2 = 4π × 62 = 144π ചȪരδെസʾീമീѯർ
c) വĿാˈം = 4

3πr
3 = 4

3π × 63 = 288π ഘനെസʾമീѯർ

8) a) 3πr2 = 300π → r = 10

b) h = r = 10. l, r, hഎʭിവ േചർʭ് 45◦ − 45◦ − 90◦ Ƀിേകാണം ഉȒാŃʮ. l = 10
√
2

c) വŦ̮ഖപരːളവ് = πrl = 100
√
2

9) a) 3πr2 = 75π → πr2 = 75π
3 = 25π. പരʭ ഭാഗȮിെʾ പരːളവ് 25π

b) വŦ̮ഖപരːളവ് 2× πr2 = 50π

c) πr2 = 25π → r2 = 25, r = 5cm
d) വŦ̮ഖപരːളവ് 4πr2 = 4× 25 = 100π

10) a) S = 4πr2. When r → 2r, new surface area becomes 4π × (2r)2 = 4π × 4r2 = 4S
Surface area becomes 4 times.

b) V = 4
3πr

3. r → 2rആയാൽ ˁതിയ േഗാളȮിെʾ വĿാˈം 4
3 × π × (2r)3 = 8× V

c) ആരം 2 മടƴായാൽ ഉപരിതലപരːളവ് 22 = 4 മടƴാŃʮ. ˁതിയ ഉപരിതലപരːളവ് 4× 10 = 40

d) ആരം 2 മടƴാŃേ̵ാൾ വĿാˈം 23 = 8 മടƴാŃʮ. ˁതിയ വĿാˈം 8× 10 = 80

e) ആരം 1
2 ഭാഗമാŃേ̵ാൾഉപരിതലപരːളവ് 14 ഭാഗമാŃʮ . ˁതിയ ഉപരിതലപരːളവ് 14×s = s

4ചȪരδെസʾീമീѯർ
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1) Radius and height of a cone are 12 cm . What is the slant height of the cone ?

(a) 6
√
2cm (b) 8

√
2cm (c) 10

√
2cm (d) 12

√
2cm

2) What is the slant height of the square pyramid having height 12cm and base edge 10cm

(a) 13cm (b) 12cm (c) 18cm (d) 11cm

3) A semicircular sheet of radius 12cm is rolled into a cone

a) What is the slant height of the cone ?

b) What is the base radius of the cone ?

4) Lateral faces of a square pyramid are equilatearl triangles of side 8cm

a) What is the base area of the pyramid?

b) What is the slant height of the pyramid?

5) Radius of a solid lead sphere is 2cm.It is melted and recast into spheres of radius 1cm

a) What is the volume of the big sphere?

b) How many small spheres can be made?

6) A wire of length 48 cm is cut into 8 equal parts. Ends are joined in such a way as to get a square pyramid.

a) What is the slant height of the pyramid

b) Calculate the area of paper used to cover the base and lateral surface of the square pyramid?

7) Total surface area of a solid sphere is 100π sq.cm . It is split up into two hemispheres

a) What is the radius of the sphere?

b) What is the curved surface area of the hemisphere so formed?

c) What is the surface area of a hemisphere?

8) Two cones are made by rolling the sectoral sheets of radius 10cm and central angles 216◦ and 288◦.

a) Find the radius of each cone

b) Find the height of the cones

c) Find the ratio of their volumes

9) Base area of a square pyramid is 400 sq.cm , lateral surface area 1040 sq.cm

a) What is the length of base edge?

b) What is the slant height?

c) Find the height of the pyramid.

d) Calculate the total surface area of the pyramid.



2 10) As we know when 1 is divided by 2 we get 1 itself as remainder .But when 2 is divided by 1 the
remainder will be 0 .
Consider the sequence of natural numbers given below
1, 2, 3, 4, 5 · · · . We can make remainders on dividing the terms by a positive integer.We can see
some pattern on the remainders .

a) Write the sequence of remainders on dividing the terms of the sequence 1, 2, 3, 4, · · · by 3?
b) What is the sum of the remainders on dividing the terms 1, 2, 3, 4 · · · 10 by 3

c) What is the sum of the remainders on dividing the terms 1, 2, 3, 4 · · · 100 by 3

d) What is the sum of the remainders on dividing the terms 12, 22, 32, 42 · · · 1002 by 3

e) What is the sum of the remainders on dividing the terms 13, 23, 33, 43 · · · 1003 by 3

Answers
1) 12

√
2

2) 13cm
3) a) 12cm

b) lx = 360r → 12× 180 = 360× r
r = 6cm

4) a) a2 = 64 sq.cm
b) 4

√
3cm

5) a) 4
3π × 23 = 32π

3

b) Number of small spheres = 32π
3 ÷ 4

3π × 13 = 8

6) a) a = e = 48
8 = 6

l = 3
√
3

b) Total surface area = a2 + 2al = 62 + 2× 6× 3
√
3 = 36 + 36

√
3

7) a) πr2 = 100π, r2 = 25, r = 5

b) 2πr2 = 2π × 52 = 50π

c) Total surface area = 3πr2 = 75π

8) a) Slant height is common. It is 10cm
For first pyramid , lx = 360r → 10× 216 = 360r, r = 6cm
For second pyramid , lx = 360r → 10× 288 = 360r
r = 8cm

b) 102 = 62 + h2, h = 8
102 = 82 + h2, h = 6

c) Ratio of volumes 1
3 × π × 62 × 8 : 1

3 × π × 82 × 6
3 : 4

9) a) a2 = 400, a = 20

b) 2al = 1040, 2× 20× l = 1040, l = 26

c) h2 = l2 − (a2 )
2 = 262 − 102 = 576

h =
√
576 = 24

d) Total surface area = a2 + 2al = 400 + 1040 = 1440 sq.unit
10) a) 1, 2, 0, 1, 2, 0 · · ·

b) (1 + 2 + 0)× 3 + 1 = 10

c) (1 + 2 + 0)× 33 + 1 = 100

d) Sequence of remainders 1, 1, 0, 1, 1, 0 · · ·
Sum of the remainders (1 + 1 + 0)× 33 + 1 = 67

e) Sequence is 1, 2, 0, 1, 2, 0 · · ·
Sum = (1 + 2 + 0)× 33 + 1 = 100
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1) ഒͩ ΘȮЇപിക͆െട ആരΖം ഉയരΖം 12 െസʾീമീѯറാണ് . ചരിΖയരം എɃ ?

(a) 6
√
2cm (b) 8

√
2cm (c) 10

√
2cm (d) 12

√
2cm

2) ഉʭതി12 െസʾീമീѯѭം പാദവň് 10െസʾീമീѯѭമായ സമചȪരЇപിക͆െട ചരിΖയരം എɃയാണ് ?

(a) 13cm (b) 12cm (c) 18cm (d) 11cm

3) 12െസʾീമീѯർ ആര̮ч അർɮΘȮȮകിട് മടňി ΘȮЇപിക നിർ̼ിŉʮ.

a) ചരിΖയരം എɃ?
b) പാദ ആരം എɃ?

4) ഒͩ സമചȪരЇപിക͆െട പാർശł̮ഖƴൾ വശം8ആയ സമ̧ജɃിേകാണƴളാണ് .

a) പാദപരːളവ് എɃ?
b) ചരിΖയരം എɃ?

5) ഒͩ േലാഹേഗാളȮിെʾ ആരം 2െസʾീമിѯറാണ് .ഇത് ഉͩňി 1ആര̮ч േഗാളƴхȒാŉʮ

a) ഉͩňിയ േഗാളȮിെʾ വĿാˈം എɃ?
b) ഉͩňി͆Ȓാňിയ ഒͩ േഗാളȮിെʾ വĿാˈം എɃ?

6) 48െസʾീമീѯർ നീള̮ч ഒͩ െച̶ക̵ി 8ȪലĿഭാഗƴളാŉʮ.അവ͆െട അѯƴൾ േചർȮ് സമചȪരЇപിക
നിർ̼ിŉʮ.

a) Їപിക͆െട ചരിΖയരം എɃ?
b) പാർശł̮ഖം െപാതി͆ʭതിന് ആവശĿമായ കടലാസിെʾ പരːളവ് കണňാŉക.

7) കǲിയായ ഒͩ േഗാളȮിെʾ ഉപരിതലപരːളവ് 100πചȪരδെസʾീമീѯറാണ് . ഇത് ̮റിƹ് രȒ് അർɮേഗാളƴളാŉʮ

a) േഗാളȮിെʾ ആരം എɃ?
b) അർɮേഗാളȮിെʾ വŦ̮ഖപരːളവ് കണňാŉക
c) അർɮേഗാളȮിെʾ ഉപരിതലപരːളവ് എɃ?

8) 10ആര̮чȪം േകʣേകാȐകൾ 216◦ , 288◦ വീതΖമായ രȒ് ΘȮാംശƴൾ മടňി ΘȮЇപികകൾ
ഉȒാŉʮ.

a) ഓേരാ Їപിക͆െട͆ം ആരം കണňാŉക
b) ഉʭതികൾ കണňാŉക
c) വĿാˈƴൾ ത̼ിͬч അംശബʦം എɃ?

9) ഒͩ സമചȪരЇപിക͆െട പാദപരːളവ് 400ചȪരδെസʾീമീѯറാണ് , പാർശł̮ഖപരːളവ് 1040ചȪരδെസʾീമീѯർ

a) പാദവňിെʾ നീളെമɃ?
b) ചരിΖയരെമɃ?
c) Їപിക͆െട ഉʭതി എɃ?.



2 d) ഉപരിതലപരːളവ് കണňാŉക.

10) ഇതിനകം മനസിലാňിയ ചില വിവരƴൾ എъȪʮ. 1െന 2 െകാȒ് ഹരിƹാൽ ശിϏം 1തെʭയാണ്
. 2െന ഒʭ് െകാȒ് ഹരിƹാൽ ശിϏം ˂ജĿമാണേΓാ.
1, 2, 3, 4, 5 · · ·എʭ സംഖĿാേδണി പരിഗണിŉക .ഇവെയ ഒͩ എȤൽസംഖĿെകാȒ് ഹരിƹാൽ
ശിϏƴൾ ഒͩ േδണി ͪപീകരിŉʮ.

a) 1, 2, 3, 4, · · · എʭിവെയ 3െകാȒ് ഹരിƹാൽ ശിϏƴхെട േδണി എъȪക?
b) 1, 2, 3, 4 · · · 10 എʭീ സംഖĿകെള 3െകാȒ് ഹരിƹാൽ ശിϏƴхെട Ȫക എɃ?
c) 1, 2, 3, 4 · · · 100 എʭിവെയ 3െകാȒ് ഹരിƹാͬч ശിϏƴхെട Ȫക എɃ?
d) 12, 22, 32, 42 · · · 1002 ഇവെയ 3 െകാȒ് ഹരിƹാͬч ശിϏƴхെട Ȫക എɃ?
e) 13, 23, 33, 43 · · · 1003 ഇവെയ 3െകാȒ് ഹരിƹാͬч ശിϏƴхെട Ȫക എɃ?

Answers
1) 12

√
2

2) 13cm
3) a) 12cm

b) lx = 360r → 12× 180 = 360× r
r = 6cm

4) a) a2 = 64 sq.cm
b) 4

√
3cm

5) a) 4
3π × 23 = 32π

3

b) െചറിയ േഗാളƴхെട എȤം = 32π
3 ÷ 4

3π × 13 = 8

6) a) a = e = 48
8 = 6

l = 3
√
3

b) ഉപരിതലപരːളവ് = a2 + 2al = 62 + 2× 6× 3
√
3 = 36 + 36

√
3

7) a) πr2 = 100π, r2 = 25, r = 5

b) 2πr2 = 2π × 52 = 50π

c) ഉപരിതലപരːളവ് = 3πr2 = 75π

8) a) ചരിΖയരം െപാȪവാണ് . ഇത് 10cm
ആദĿЇപികയിൽ , lx = 360r → 10× 216 = 360r, r = 6cm
രȒാമെȮ Їപികയിൽ , lx = 360r → 10× 288 = 360r
r = 8cm

b) 102 = 62 + h2, h = 8
102 = 82 + h2, h = 6

c) വĿാˈƴൾ ത̼ിͬч അംശബʦം 1
3 × π × 62 × 8 : 1

3 × π × 82 × 6
3 : 4

9) a) a2 = 400, a = 20

b) 2al = 1040, 2× 20× l = 1040, l = 26

c) h2 = l2 − (a2 )
2 = 262 − 102 = 576

h =
√
576 = 24

d) ഉപരിതലപരːളവ് = a2 + 2al = 400 + 1040 = 1440 ചȪരδ͇ണിѯ്
10) a) 1, 2, 0, 1, 2, 0 · · ·

b) (1 + 2 + 0)× 3 + 1 = 10

c) (1 + 2 + 0)× 33 + 1 = 100

d) ശിϏƴхെട േδണി 1, 1, 0, 1, 1, 0 · · ·
ശിϏƴхെട Ȫക (1 + 1 + 0)× 33 + 1 = 67

e) േδണി 1, 2, 0, 1, 2, 0 · · ·
Ȫക = (1 + 2 + 0)× 33 + 1 = 100

1
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1) What is the surface area of the sphere of radius 1?

(a) 2π (b) 4π (c) 7π (d) 10π

2) A cone is made by rolling a sectoral sheet of radius 1
4 of its slant height.What is the central angle of the

sector?

(a) 90◦ (b) 90◦ (c) 60◦ (d) 80◦

3) This is cutout from a sheet of paper for making a square pyramid.

a) What is the slant height of the pyramid?

b) Find the height of the pyramid?

4) The shape of a petrol tank is just like a cylinder with two identical hemispheres at the ends. Total length
of the tank is 10meter and diameter 2 meter.

a) What is the length of cylindrical part?

b) What is the total surface area of the tank?

5) A cone is made by rolling a sectoral sheet.If the radius of the cone is 4cm and slant height 12cm.

a) What is the radius of the sectoral sheet?

b) Find the central angle of the sheet used to make the cone?

6) Leth, l, e be the height ,slant height and lateral edge of a square pyramid. There are pythagorean
relations among these measures .

a) Prove that h2, l2, e2 are in arithmetic sequence.



2 b) If e = 13 and h = 5 then what is l?

7) The base radius and slant height of a cone are in the ratio 1 : 2

a) What is the ratio of base area and curved surface area?

b) What is the ratio of base area and total surface area ?

c) If the base radius is 1 then what is the height of the pyramid?

8) The lateral edge of a square pyramid is 12cm.The angle between slant height and lateral edge is 30◦.

a) What is the base edge of the pyramid?

b) Find the slant height of the pyramid

c) Calculate the total surface area of the pyramid?

9) A cylindrical vessel contains water to a cetrain level.When a small metallic soild sphere is immersed the
water level raises by 1 cm .Manju said:’If a sphere of double its radius is immersed the water level will
raise 2 cm ’

a) Can you agree with her opinion? Justify your answer

b) If you disagree with the above statement , how much the water level raise.

c) What about the raise of water level if the sphere of thrice the radius is immersed in water in the
vessel.
(Assume that the vessal has enough space )

10) The base edge , base diagonal , height of a square pyramid are a, dand h respectively.Teacher gave an
assigment to prove that the lateral faces of a square pyramid cannot be an isosceles right triangle. Fill
in the blank spaces in the following steps.

a) If the lateral face is an isosceles right triangle what is the length of its lateral edge ?

b) How does base edge and base diagonal are related to each other?

c) Using the pythagorean relation try to find the height of the pyramid?

d) Can isosceles right triangle be the lateral faces of a square pyramid?

e) Which of the following triangles can be the lateral faces of a square pyramid

Answers
1) 4π

2) 90◦

3) a) 5

b) 52 = 32 + h2 → h2 = 25− 9 = 16, h = 4

4) a) Radius of the cylinder is 1m. Taking two hemisphers at the ends the length of the cylindical part
10− (1 + 1) = 8m

b) Two hemisphres at the ends together make a sphere.Its surface area is 4π × 12 = 4π
Curved surface area of the cylinder is 2πrh = 2π × 1× 8 = 16π
Total surface area = 20π sq.m

5) a) 12cm



3b) lx = 360r → 12× x = 360× 4
x = 360×4

12 = 120◦

6) a) l2 = h2 + (a2 )
2 . ∴ l2 − h2 = (a2 )

2

e2 = l2 + (a2 )
2 . ∴ e2 − l2 = (a2 )

2

That is l2 − h2 = e2 − l2

h2, l2, e2 are in arithmetic sequence.
b) Since h2, l2, e2 are in arithmetic sequence 2l2 = h2 + e2 = 194, l2 = 97, l =

√
97

7) a) r : l = 1 : 2 → r = x, l = 2x

b) πr2 : πrl = πx2 : πx× 2x
πx2 : 2πx2 = 1 : 2

c) r = 1, l = 2
h =

√
22 − 12 =

√
3

8) a) e, l, a
2 form a 30◦ − 60◦ − 90◦ triangle.

Side opposite to 90◦ is 12. So side opposite to 30◦ is 6 .
a
2 = 6, a = 12

b) l = 6
√
3

c) Total surface area = a2 + 2al = 144 + 144
√
3

9) a) When the radius is r then volume V = 4
3πr

3.
When r becomes 2r the new volume = 4

3π × (2r)3 = 8V
Volume becomes 8 times.So water level raises not 2 cm. It is 1× 8 = 8 cm.

b) So water level raises not 2 cm. It is 8 cm.
c) 27 times . It is 1× 27 = 27times

10) a) a√
2

b) d =
√
2a

c) e2 = h2 + (d2 )
2

( a√
2
)2 = h2 + ( a√

2
)2

h2 = 0, h = 0

d) No . The pyramid cannot be made.
e) First and second triangles can be lateral faces.

1
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1) ആരം 1ആയ േഗാളȮിെʾ ഉപരിതലപരːളവ് എɃ?

(a) 2π (b) 4π (c) 7π (d) 10π

2) ΘȮാംശȮകിട് മടňി ΘȮЇപിക ഉȒാŉʮ. Їപിക͆െട ആരം ചരിΖയരȮിെʾ 1
4ഭാഗമാണ്

.ΘȮാംശȮിെʾ േകʣേകാൺ എɃ?

(a) 90◦ (b) 90◦ (c) 60◦ (d) 80◦

3) സമചȪരЇപിക നിർ̼ിŉʭതിനായി േപːറിൽ നിʮം ̮റിെƹǮȮ ͪപമാണിത് .

a) സമചȪരЇപിക͆െട ചരിΖയരം എɃ?
b) Їപിക͆െട ഉയരം എɃ?

4) ΘȮЅംഭȮിെʾ രȒѯȯം അർɮΘȮƴൾ ഉറːിƹ ആŅതിയാണ് ഒͩ െപേǵാൾ ടാưിʎчത്. ടാưിെʾ
നീളം10മീѯറാണ് , വĿാസം 2മീѯർ.

a) ΘȮЅംഭȮിെʾ നീളെമɃ?
b) ടാưിെʾ ഉപരിതലപരːളവ് കണňാŉക

5) ഒͩ ΘȮാംശം മടňി ΘȮЇപിത ഉȒാŉʮ. Їപിക͆െട ആരം 4 െസʾീമീѯർ , ചരിΖയരം12െസʾീമീѯർ

a) ΘȮാംശȮിെʾ ആരം എɃ?
b) ΘȮാംശȮിെʾ േകʣേകാൺ കണňാŉക?

6) h, l, e എʭിവ സമചȪരЇപിക͆െട ഉʭതി, ചരിΖയരം , പാർശłവň് എʭിവയാണ് . ഇവെയ ത̼ിൽ
ബʦിːിŉʭ ൈപതേഗാറിയൻ ബʦƴхȒ് .

a) h2, l2, e2 എʭിവ സമാʒരേδണിയിലാെണʭ് െതളിയിŉക.



2 b) e = 13 , h = 5 ആയാൽ lഎɃ?

7) ΘȮЇപിക͆െട പാദആരΖം ചരിΖയരΖം ത̼ിͬч അംശബʦം 1 : 2ആണ് .

a) പാദ ആരΖം വŦ̮ഖപരːളΖം ത̼ിͬч അംശബʦം എɃ?

b) പാദപരːളΖം വŦ̮ഖപരːളΖം ത̼ിͬч അംശബʦം എɃ?

c) പാദ ആരം 1 ആയാൽ ഉʭതി എɃ?

8) ഒͩ സമചȪരЇപിക͆െട പാർശłവň് 12െസമീ .പാദവňിʎം ചരിΖയരȮിʎം ഇടയിെല േകാൺ 30◦.

a) പാദവňിെʾ നീളെമɃ?

b) Їപിക͆െട ചരിΖയരം എɃ?

c) ഉപരിതലപരːളവ് കണňാŉക?

9) ΘȮЅംഭാŅതിയിͬч പാɃȮിൽ െവчം എǮȮ് അതിൽ െചറിയ േലാഹേഗാളം താјിയിǮʮ. അേːാൾ
ജലനിരː് 1െസʾീമീѯർ ഉയർʮ. .മǩ പറǬ:ഇതിെʾ ഇരǲി ആര̮ч േഗാളം താѕിയിǲാൽ ജലനിരː്
2െസʾീമീѯർ ഉയͩം .

a) ഈ അഭി˗ായേȮാട് േജാജിŉʮേȒാ? സമർȶിŉക

b) േയാജിŉʭിെΓưിൽ എɃ ഉയͩെമʭാണ് കണňാŉʭത് .

c) ̯ʭ് മടƴ് ആര̮ч േഗാളം താѕിയിǲാൽ ജലനിരː് എɃ ഉയͩം ?

10) ഒͩ സമചȪരЇപിക͆െട പാദവň് , പാദവികർȤം , ഉʭതി എʭിവ a, d hവീതമാണ് .

a) പാർശł̮ഖƴെളΓാം സമപാർശłമǲɃിേകാണƴളായി കͩതിയാൽ പാദവŉം പാർശłവŉം ത̼ിͬч
ബʦെമʒ് ?

b) പാദവŉം പാദവികർȤΖം എƴെന ബʦെːǲിരിŉʮ.

c) ൈപതേഗാറിയൻ ബʦം ഉപേയാഗിƹ് ഉʭതി കണňാňാൻ δമിŉക

d) പാർശł̮ഖƴൾ സമപാർശłമǲɃിേകാണƴൾ ആŃേമാ?

e) താെഴ െകാǮȮിരിŉʭതിൽ പാർശł̮ഖƴാŃʭ Ƀിേകാണƴൾ ഏെതΓാം?

Answers
1) 4π

2) 90◦

3) a) 5

b) 52 = 32 + h2 → h2 = 25− 9 = 16, h = 4

4) a) ΘȮЅംഭȮിെʾ ആരം 1m. ΘȮЅംഭȮിെʾ നീളം
10− (1 + 1) = 8m

b) രȒ് അർɮേഗാളƴൾ േചർʭ് േഗാളമാŃʮ.ഉപരിതലപരːളവ് 4π × 12 = 4π
വŦ̮ഖപരːളവ് 2πrh = 2π × 1× 8 = 16π
ഉപരിതലപരːളവ് = 20π sq.m

5) a) 12cm

b) lx = 360r → 12× x = 360× 4
x = 360×4

12 = 120◦



36) a) l2 = h2 + (a2 )
2 . ∴ l2 − h2 = (a2 )

2

e2 = l2 + (a2 )
2 . ∴ e2 − l2 = (a2 )

2

l2 − h2 = e2 − l2

h2, l2, e2 സമാʒരേδണിയിലാണ്
b) h2, l2, e2 എʭത് സമാʒരേδണിയാണ് 2l2 = h2 + e2 = 194, l2 = 97, l =

√
97

7) a) r : l = 1 : 2 → r = x, l = 2x

b) πr2 : πrl = πx2 : πx× 2x
πx2 : 2πx2 = 1 : 2

c) r = 1, l = 2
h =

√
22 − 12 =

√
3

8) a) e, l, a
2 form a 30◦ − 60◦ − 90◦Ƀിേകാണം .

90◦ ്͍ എതിെര വശം 12. 30◦ ന് എതിെര͆ളള വശം 6 .
a
2 = 6, a = 12

b) l = 6
√
3

c) Total surface area = a2 + 2al = 144 + 144
√
3

9) a) ആരം r ആയാൽ വĿാˈം V = 4
3πr

3.
ആരം r എʭത് 2r ആയാൽ ˁതിയ വĿാˈം = 4

3π × (2r)3 = 8V
വĿാˈം 8 മടƴാŃʮ.

b) ജലനിരː് 2 അΓ . 8 െസʾീമീѯർ ഉയͩʮ.
c) 27 മടƴ് . 1× 27 = 27

10) a) a√
2

b) d =
√
2a

c) e2 = h2 + (d2 )
2

( a√
2
)2 = h2 + ( a√

2
)2

h2 = 0, h = 0

d) Їപിക നിർ̼ിňാൻ സാധĿമΓ.
e) ആദĿെȮ͆ം രȒാമേȮ͆ം പാർശł̮ഖƴളാകാം.

1

1Compiler : John P.A, sjpuzzles@gmail.com , jpavpz@gmail.com | 9847307721
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